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February 01, 2019

Jan 25­8:47 AM

February 28, 2019, Monday

If you are solving a linear system what does this mean:

12 = 12, 

0= ‐6

February, 30, 2019 Wednesday

Jan 30­8:04 AM

Jan 30­8:04 AM Jan 25­8:51 AM

Jan 25­8:51 AM Jan 25­8:52 AM
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February 01, 2019

Jan 25­8:52 AM Jan 25­8:52 AM

January 29, 2019, Tuesday

Graphically show an example of a system with one solution and another with no 
solution.

January 31, 2019, Thursday

Jan 25­8:54 AM Jan 25­8:54 AM

Jan 25­8:55 AM Jan 25­8:55 AM
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February 01, 2019

Jan 25­8:56 AM Jan 25­8:56 AM

January 30, 2019, Wedneday

....quiz

February 1, 2019, Friday

Would you choose graphing, substitution or elimination?  Why?

y = ‐x +3 
5x + y = ‐1, 

‐3x +y = ‐1 
‐6x + 2y = ‐2 

y = mx + b

Jan 25­8:57 AM Jan 25­8:58 AM

Jan 25­8:59 AM

January 31, 2019, Thursday

Highly missed quiz problems

Jan 25­8:59 AM
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February 01, 2019

Jan 25­9:00 AM Jan 25­9:00 AM

Jan 25­9:02 AM

February 1, 2019, Friday

Graph the following

Y > ‐4
Y >= 2x ‐ 5

Jan 25­9:02 AM

Jan 25­9:02 AM Jan 25­9:04 AM
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February 01, 2019

Jan 25­9:04 AM Jan 25­9:04 AM

Jan 25­9:04 AM


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

